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Now we continue and
calculate

an ordered basis
for EcCTI.
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We need to solve
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Solve for leading variables and give

free variables a new name.
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= [(0).(oil] . From above Pe spans [c+.

B HW 2 AS since (ols(o) are not
multiples of

each other they form a linearly independent
set.

So, B2 is a basis for fe(TI.
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Note that algebraic multiplicity
of X
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for both X's.
This will allow us to diagonalize T.

Let
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We will prove a theorem late that in this

situation B is a basis for R

I claim that B will diagonalize T.

We need to compute (TTB.
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* Let T: P(R) -> RIR) ER
where Tf1 = f' that is,

T(a+bx+cxY=6+2<X.

We know from before that T is linear.

Let's find the eigenvalves
of T.

Let v = 91, x, x3.8CardPLIR)
Let's find [T]w
We have
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T(x) = 1 = 101 + 0.x
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Then,
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And,
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gives b = 0, c
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So, B = [I] is a basis for EoCTI.


